












Monte has a small rectangular herb garden that has a length 3 yd longer than twice its width. If the area of the garden is 50 yd2, what is the length of the garden, to the nearest tenth of a yard?





The height above ground of an object thrown upward from an initial height of s with an initial velocity of v ft/sec is modeled by 





			h(t) = -16t2 + vt + s.





Javier throws a baseball upward at 80 ft/sec from a platform 64 ft above the ground. To the nearest tenth of a second, when will the baseball hit the ground?





A basketball player shoots a free throw. If v is the initial velocity of the ball and s is the initial height of the ball, the path of the ball can be represented by 


		h(t) = -4.9t2 + vt + s.


If the initial velocity of the ball is 6 m/s and the initial height is 2 m, and the player shoots an AIR BALL, how long does it take to hit the floor?
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A farmer has 1200 m of fencing. She wants to enclose a rectangular field bordering a river, with no fencing needed along the river. Find the dimensions of the field if the area of the field is 180,000 sq m.





You’re attending a monster truck show, and the next contestant is Big Bad Beuford. His truck is AMAZING…launching from a platform that’s        3 feet high, his truck follows a path represented by the equation





	h = -0.5c2 + 6c + 3,





Where h is the height in feet and c is the number of cars jumped.





Approximately how many cars does Big Bad Beuford jump before landing on the ground?





A ball is thrown vertically upward from the top of a 96-foot building with an initial velocity of 80 ft/sec. The height h (in feet) of the ball from the ground after t seconds is given by the formula h = -16t2 + 80t + 96.





After how many seconds will the ball pass the top of the building on its way down?





Alysson is jumping on the trampoline. If v is her initial velocity and s is her initial height, Alysson’s jump can be modeled by the equation





	h(x) = -0.24x2 + vx + s,





where h is the height in feet and x is the distance in feet. If Alysson jumps with an initial velocity of 2.4 and initial height of 0, what is the maximum height that Alyssa jumps?





Kevin, a new baseball player, began to record how far he could throw the ball from the outfield. A baseball throw from an initial height of s ft, where x is the distance in feet from Kevin and h is the height of the ball in feet, is modeled by 





		H(x) = -0.002x2 + 0.6x + s.





If Kevin throws from an initial height of 5 ft, how far from Kevin will the ball be when it reaches its maximum height?





You have a 500-foot roll of fencing and a large field. You want to construct a rectangular playground area. What are the dimensions of the largest such yard? What is the largest area?





THE_Greatest95 is playing CALL of DUTY BLACK OPS. He throws a tomahawk across the map. If it’s thrown from an initial height s and with an initial velocity v, its path can be represented by the equation 





		h(t) = -0.016t2 + vt + s,





where t is in seconds. If THE_Greatest95 throws from an initial height of 4 ft, how many seconds will it take for the tomahawk to hit its target, if the target is lying on the ground?





The red angry bird is ready to launch. If v is the initial velocity and s is the initial height, the red bird’s path can be represented by 





		h(t) = -0.2t2 + vt + s,





where t is in seconds. If the red bird’s initial velocity is 1 m/sec and its initial height is 1 m,  AND the big pig is sitting on the ground, how far away does the pig need to be if the angry bird is going to hit it?





Two cars leave an intersection.  One car travels north; the other travels east. When the car traveling north had gone 24 miles, the distance between the cars was four miles more than three times the distance traveled by the car heading east.  Find the distance between the cars at that time.





A plastic box that holds CD’s has a length 4 cm. longer than its width. The area of the rectangular top of the box is 77 square cm. Find the length and width of the box.








